TH6F_ENZIEMN= HETER ()

£ 1 EEHE 2A22H (K) ~ 3A22H (%) (£#I3 0 HR)
FEFE - BRIE=Z (Y] 2A 1B (K)
BEREEZER 2H 78 (k) 13:30
BERELYRERESR 2R 7H (k) BREEZESKRTE
— iR E =2t EAtR 2A 8H (K) 9:00
EBERE 2H138 (K) Fwi$
— AR B R =2 A 2H148 (K) 16:00
RIEE BT 2A19H8H (A) 17:00
g2 EEHE 6H 7H (£) ~ 6HA198 (K) (£H91 3HM)
FARE - [RIEZ (LD 58228 (K)
BREEZER 5A28H (k) 13:30
BERELYRERESR 5828H (k) BREEZFE|SKTHR
— B Z A 58298 (K) 9:00
EBERE 58318 (&) it
— % B R 2 A LT 6A 3H (A) 16:00
FE IEEHI= 9RA 2H (A) ~ 9A26H (K) (&#12 5 M)
FAFE - BRIF =2 (Y] 8H15H (K)
BEREEZER 8H21H (k) 13:30
BEEELVRERES 8A21H (K) BEEEZESKRTHR
— R E =2t EAtR 8A22H (K) 9:00
BERE 8HA26H8 (A) &#wi¢
— iR B =2 D 8H27H (k) 16:00
HRIRE B2 Y 8HA29H (K) 17:00
g 4mEEHE 11H29H (£) ~12H118 (K) (=H#11 38M)
FARE - [RIEZ (LD 118138 (k)
BEREEZER 118198 (k) 13:30
BEFLVYREZES 118198 (X)) BEEEZESKTH
— R E =2t EAtR 118208 (K) 9:00
EBERE 11H22H (£) Faig
— AR B R =2 A 11A25H (A) 16:00




